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Pour
trouver
un
vecteur
alias
dont
la
somme
des
éléments
est
la
même
que
celle
du
vecteur

V=(1,4,5),
nous
devons
d'abord
calculer
la
somme
des
éléments
de
V.
La
somme
des
éléments

du
vecteur
V
est

1+4+5=10.
Ensuite,
nous
devons
trouver
un
autre
vecteur
dont
la
somme

des
éléments
est
également

10.
Voici
quelques
exemples
de
tels
vecteurs
:
(2,3,5)-
(6,2,2)-

(4,4,2)
-
(3,3,4)
-
(5,1,4)
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V	(3,4,6)
alias	par	le	produit	identique		=	72:

V	(2,6,6)
V	(1,8,9)	=	V(1,4,5)	
V	(2,3,12)	=	(2,3,0)	où	0	=	doublure
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